IDT Camera Specifications

4.11. Mechanical and hole mounts (MotionXtra NR)

4.11.1. Front View (all memory configurations)

C-MOUNT

[ 64.008]
2.520

(32.004 ]
1.26

[64.008 |
2.520

Users Manual



IDT Camera Specifications

4.11.2.

LED POWER

LED ETHERNET

[49.892]

1.860

Back View (all memory configurations)

[9.144]
5X 0.360

0

LEMO ECG.2B.316.CLN

1.964 = S
[47.244]""“XV~HH © f.;/frﬁi ) ©

’3]9-5‘5620” - A — (38,307
: — ).HF‘HE El.( 1.508
NN g 00— lu T 11'
1.260 TR
HED SYNG QU124 384] I I
0.960 e [C—= o
LED TRIGGER Mezed] 7 N HN I ——
16.764 P P ] -y
0.660 /;\d—ﬁ‘—ﬂ—'—u—ﬂ]@;—k@; [1.223]
0 7 0.048
5X $0.050 T o
o= o2
N\.u‘:‘- ]
O SN

DO NOT OBSTRUCT, VENTS FOR FAN.—/

92

Users Manual



IDT Camera Specifications

4.11.3. Side View (1.25 GB)

— T~
3 3
Q S S
— [a— o
] H D 0
O Q) 111.392]
0.449
| 61.443 ]
i 2.419
O O [67.031]
|.vth = sl i 2.639_
/‘=' | S [71.095]
g - ) 2.799
/ -/ " -
DONT OBSTRUCT, ﬁr a j i
VENTS FOR FAN - Fo ¥ Dv S
03 NF ~N3E 9OR
e L = S o

Users Manual



IDT Camera Specifications

4.11.4. Top View (1.25 GB)

2 X ALL SIDES
2 X ALL SIDES INSERT, EXT 1/4-28
/INT. 8-32 X 281" LENGTH

ANTI-SEIZING 8-32
HELICAL INSERT

W/ NYLON PATCH

SCREW-LOCK X .164" LENGTH— ]1 7T
:Jl\(\) T [48.641]
: 1.915
[” - [15.367]
[ 114
i y 0
= " — o
[ap] o o) oS o .
28 3% 53
oo ™ E o —o

94 Users Manual



IDT Camera Specifications

4.11.5. Bottom View (1.25 GB)

r |
[48.641]
1.915
[37.592]
1.480
[15.347]
0.605
[3.556]
0 = 0.140
™~
o — 1 DO NOTOBSTRUCT,
No > g o VENTSFORFAN.
O % Q% 9K BOTHSIDES
—o oSN o 2a

Users Manual 95



IDT Camera Specifications

4.11.6. Side View (2.5 GB)

DO NOT OBSTRUCT,

VENTS FOR FAN.——~_

96

— N
35 %3
Q- =°
. N ©
0
N [11.392]
OC/ 2X 0.449
HOAHOHHEHEHAH |67.514]
/ 2X 2.658
— 0 O _[73a02]
“*: — ~ 2X 2878
[77.166]
J 2X 3.038
2% 88 Rz SR
e o o =
B A -

Users Manual



IDT Camera Specifications

4.11.7. Top View (2.5 GB)

2 X ALLSIDES

ANTI-SEIZING 8-32
HELICAL INSERT

SCREW-LOCK X .164" LENGTH

2 X ALL SIDES

INSERT, EXT 1/4-28
INT. 8-32 X 281" LENGTH
W/ NYLON PATCH

s

i

nimil

——
. O
')

| 48.641
2X 1915

115.367 |

2X 0.605

[1 [] O
®
[ TH I
7
— —
-
Iy 58
Sl s
0] o
©® 2
>
o~

Users Manual

2% 0.449

0

0

97



IDT Camera Specifications

4.11.8.

| 48.641 |
2X 1.915

[37.592]
1.480

[15.367 ]
2X 0.605

13.556]
0.140

98

Bottom View (2.5 GB)

e
©
o
0 b
Lo | —
— —
S glo T N O
o 3 uny 2 P R
)< v ~—3 w5
—_— M~ s S~
= oY R e
= =< o
o~ o

DO NOT OBSTRUCT,
VENTS FOR FAN.
BOTH SIDES

Users Manual



IDT Camera Specifications

4.11.9. Side View (5.0 GB)

[ L |
— P
< 0 0 —
0 o L
w0 Tof e
=+ —
> <
o~ o -
- =] 0

Q O 2x 0

I T I
| T |
| T |
I T I
| L1 |
I T I

[ 68.073 ]
i1l 2% 2.680
O O
o O ~__ [73.661]
\ 2X 2900
ol —v \_ [77.725]
DONT OBSTRUCT, M \ N 2X 3.060
VENTS FOR FAN (= = =
' O = [l
¥ N8 SR
Im— - 2o
|;|'_

Users Manual



IDT Camera Specifications

4.11.10. Top View (5.0 GB)

2 X ALL SIDES 2 X ALL SIDES
ANTI-SEIZING 8-32 INSERT, EXT 1/4-28
HELICALINSERT INT 8-32 X 281" LENGTH
SCREW-LOCK X 164" LENGTH /W;NYLON PATCH
T ™y
i
y '\b © O} [48.641 |
= 2% 1915
%4
5 «
-
i
T—r® O 2X [ ]c;jé%ésﬂ
i E— O) ()] '
b 0
e ?c: ‘Wo ©
38 S8 a3
o - 3
(] (o]

100 Users Manual



IDT Camera Specifications

4.11.11. Bottom View (5.0 GB)

B
| 48.641]
2X 1915
137.592] A
1.480 ., =T
I -
I
2)(;]8.2?” O O I |]|
[3.556] @) (O1E -
0.140 0 T~
/ k\\\
o = — i ™ DO NOT OBSTRUCT,
e Rg co mo  VENTSFORFAN.
i 2% 98 N BOTHSIDES
R BN Qo Ko
= I
™ o4

Users Manual 101



